
Percentage, Decimal and Fraction 
Colouring Activity

10%
Shade in 10%

30%
Shade in 30%

20%
Shade in 20%

40%
Shade in 40%

        =         = 0.     
	     	    100

        =         = 0.     
	     	    100

        =         = 0.     
	     	    100

        =         = 0.     
	     	    100

Now can you fill in the blanks below?

Now can you fill in the blanks below?

Now can you fill in the blanks below?

Now can you fill in the blanks below?
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50%
Shade in 50%

70%
Shade in 70%

60%
Shade in 60%

80%
Shade in 80%

        =         = 0.     
	     	    100

        =         = 0.     
	     	    100

        =         = 0.     
	     	    100

        =         = 0.     
	     	    100

Now can you fill in the blanks below?

Now can you fill in the blanks below?

Now can you fill in the blanks below?

Now can you fill in the blanks below?
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90%
Shade in 90%

1%
Shade in 1%

100%
Shade in 100%

5%
Shade in 5%

        =         = 0.     
	     	    100

        = 0.     
	     	         100

        =       
	     	    	  100

        = 0.     
	     	         100

Now can you fill in the blanks below?

Now can you fill in the blanks below?

Now can you fill in the blanks below?

Now can you fill in the blanks below?
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12%
Shade in 12%

75%
Shade in 75%

25%
Shade in 25%

        = 0.     
	     	         100

        =         = 0.     
	     	    100

        =         = 0.     
	     	    100

Now can you fill in the blanks below?

Now can you fill in the blanks below?

Now can you fill in the blanks below?
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Percentage, Decimal and Fraction 
Colouring Answers

10%  (10 of the 100 squares shaded in) =  10100 = 110 = 0.1

20%  (20 of the 100 squares shaded in) =  20100 = 210  or  15 = 0.2

30%  (30 of the 100 squares shaded in) =  30100 = 310 = 0.3

40%  (40 of the 100 squares shaded in) =  40100 =  410 or  25 = 0.4

50%  (50 of the 100 squares shaded in) =  50100 = 510  or  12 = 0.5

60%  (60 of the 100 squares shaded in) =  60100 = 610 or  35 = 0.6

70%  (70 of the 100 squares shaded in) =  70100 = 710 = 0.7

80%  (80 of the 100 squares shaded in) =   80100 = 810  or  45 = 0.8

90%  (90 of the 100 squares shaded in) =  90100 = 910 = 0.9

100%  (100 of the 100 squares shaded in) = 100100 = 1010 = 1.0

1%  (1 of the 100 squares shaded in) =  1100  = 0.01

5%  (5 of the 100 squares shaded in) =  5100  = 0.05

12%  (12 of the 100 squares shaded in) =  12100 = 0.12

25%  (25 of the 100 squares shaded in) =  25100 = 14 = 0.25

75%  (75 of the 100 squares shaded in) =  75100 = 34 = 0.75


